MANATEE COUNTY GOVERNMENT INTENT TO AWARD

ITQ NO./TITLE	19-R070987GE Safety Supplies	DATE POSTED	BCC DS	MCC
PROCUREMENT REPRESENTATIVE	George Earnest CPPB	PROJECTED AWARD DATE	April 5, 2019	.
DEPARTMENT/DIVISION	Public Works	AUTHORIZE D BY DATE	Maria Goldarez, Procure	davag ment Team Leader

NOTICE OF INTENT TO AWARD

The Manatee County Procurement Division provides notice of its intent to award a contract with Safety Products, Inc. for the provision of Safety Supplies.

ENABLING/REGULATING AUTHORITY

Manatee County Procurement Ordinance, Sec 2-26.

BACKGROUND/DISCUSSION

The Public Works Department has need to stock and maintain quantities of various Personal Protection Equipment, Traffic Safety Supplies and First Aid Supplies for operational use on an "as needed" basis.

The solicitation was advertised on March 13, 2019 on the Manatee County website. It was also provided to the Manatee County Chamber of Commerce and the Manasota Black Chamber of Commerce for release of its members. Responses were received from the following firms:

- 1. Ritz Safety LLC, Tampa, FL
- 2. Safety Products, Inc., Lakeland, FL
- 3. Lightle Enterprises of Ohio, Frankfort, OH

Lightle Enterprises' response was delcared nonresponsive by way of being incomplete due to a large number of "no bid" responses for items. They did not offer a complete response for any group.

EVALUATION RESULTS SUMMARY:

Safety Products, Inc. was the lowest responsive, responsible bidder. A bid tabulation of the results is attached to this Notice of Intent to Award.

The Procurement Division and the Public Works Department recommend award to Safety Products, Inc...

ATTACHMENTS (List in order of attached)	Bid Tabulation	NAME OF FUNDING SOURCE	Acct No. 5010003698
COST	Annual Estimate \$50,000	FUNDS VERIFIED	Blanket PO

	114 10 101000 02 01 01 11 100 1 200							
ITEM	DESCRIPTION (Current supplier info provided for reference)	ESTIM ANNI QUAN	UAL	RITZ SAFETY UNIT PRICE	RITZ SAFETY EXTENDED PRICE	SAFETY PRODUCTS INC. UNIT PRICE	SAFETY PRODUCTS INC. EXTENDED PRICE	
	GROUP A (PERSONAL PROTECTION)							
1	GLOVE, Leather palm, medium duty, side split leather, wing thumb design. Protective Industrial Products # 85-7500, Protective Industrial Products	3	DZ	\$17.76	\$53.28	\$18.55	\$55.65	
2	GLOVE , Leather palm, general purpose, shoulder leather, wing thumb design. Protective Industrial Products # 85-7500S, Protective Industrial Products	24	DZ	\$17.76	\$426.24	\$16.05	\$385.20	
3	GLOVE, Leather palm, heavy duty, X-Large, grade AA Leather. Protective Industrial Products# 81-7563YB, Protective Industrial Products	25	DZ	\$33.04	\$826.00	\$20.55	\$513.75	
4	GLOVE, Pigskin Drivers, Unlined premium grade, keystone thumb, Size Sm. & Lg. Protective Industrial Products# 70-368S & #70368L, Protective Industrial Products	40	DZ	\$52.51	\$2,100.40	\$46.65	\$1,866.00	
5	GLOVE, Heavy weight, soft cotton. Protective Industrial Products# 9100, Protective Industrial Products	1	DZ		\$0.00	\$7.40	\$7.40	
6	GLOVE, PVC coated, cotton seam-free interlock knit liner. Best# 963M-09	12	PR	\$1.93	\$23.16	\$2.04	\$24.48	
7	GLOVE, Cowhide leather, unlined. Protective Industrial Products# 69- 1381L, Protective Industrial Products	12	PR	\$2.35	\$28.20	\$2.24	\$26.88	
8	GLOVE, Latex, 11mil thick, powder free, (50 per box). MCR SAFETY MED-TECH #5049; M,L,XL	1,300	вх	\$9.41	\$12,233.00	\$8.20	\$10,660.00	
9	GLOVE, Latex, 10mil thick, powder free, (50/box) #G52830HR, S-XL, Liberty Glove	10	вх	\$6.32	\$63.20	\$6.95	\$69.50	
10	GLOVE, Latex, 28mill thick, Flock Lined, 13" Length, Orange, Assurance 48-L302T	48	PR	\$1.24	\$59.52	\$1.13	\$54.24	
11	GLOVE, PVC, chemical resistant, smooth finish, 18" long, Best #58-8060	24	PR	\$0.97	\$23.28	\$1.77	\$42.48	
12	GLOVE, RED VIPER, ALL SIZES, North NF11	400	DZ	\$27.85	\$11,140.00	\$28.05	\$11,220.00	
13	GLOVE, DISPOSABLE, 8mil or thicker, Nitrile, Powder free, ***MEDICAL GRADE***	10	вх	\$6.02	\$60.20	\$6.50	\$65.00	
14	GLOVE, economy leather palm with knuckle strap back, size 2XL, #G165632XL	60	EA	\$1.12	\$67.20	\$2.00	\$120.00	
15	RAINSUIT, Small Heavy duty PVC .35mm, 3 piece, jacket with hood, bib trouser, covered pockets. MCR/River City Classic Style# 2003 (Note: this description applies to items #14-22)	2	EA	\$6.34	\$12.68	\$6.60	\$13.20	
16	RAINSUIT, Medium,	2	EA	\$6.34	\$12.68	\$6.60	\$13.20	
17	RAINSUIT, Large,	2	EA	\$6.34	\$12.68	\$6.60	\$13.20	

BID TABULATION ITQ 19-R070987GE, SAFETY SUPPLIES

ITEM	DESCRIPTION (Current supplier info provided for reference)	ANN	MATED IUAL NTITY	RITZ SAFETY UNIT PRICE	RITZ SAFETY EXTENDED PRICE	SAFETY PRODUCTS INC. UNIT PRICE	SAFETY PRODUCTS INC. EXTENDED PRICE
18	RAINSUIT, X-Large,	2	EA	\$6.34	\$12.68	\$6.60	\$13.20
19	RAINSUIT, XX-Large,	2	EA	\$6.34	\$12.68	\$6.60	\$13.20
20	RAINSUIT, XXX-Large,	2	EA	\$6.88	\$13.76	\$7.15	\$14.30
21	RAINSUIT, XXXX-Large,	2	EA	\$7.16	\$14.32	\$7.45	\$14.90
22	RAINSUIT, XXXXX-Large,	2	EA	\$7.71	\$15.42	\$8.00	\$16.00
23	RAINCOAT, Small, Heavy duty PVC, 48" long, storm flaps, snap on hood. River City Classic Style# 200C (Note: this description applies to items #22-30)	3	EA	\$4.64	\$13.92	\$5.70	\$17.10
24	RAINCOAT, Medium	5	EA	\$4.64	\$23.20	\$5.70	\$28.50
25	RAINCOAT, Large,	10	EA	\$4.64	\$46.40	\$5.70	\$57.00
26	RAINCOAT, X-Large,	20	EA	\$4.64	\$92.80	\$5.70	\$114.00
27	RAINCOAT,XX-Large	20	EA	\$4.64	\$92.80	\$5.70	\$114.00
28	RAINCOAT, XXX-Large	20	EA	\$4.64	\$92.80	\$6.10	\$122.00
29	RAINCOAT, XXXX-Large	5	EA	\$4.64	\$23.20	\$6.40	\$32.00
30	RAINCOAT, XXXXX-Large	2	EA	\$4.64	\$9.28	\$6.70	\$13.40

ITEM	DESCRIPTION (Current supplier info provided for reference)	ESTIMATED ANNUAL QUANTITY		RITZ SAFETY UNIT PRICE	RITZ SAFETY EXTENDED PRICE	SAFETY PRODUCTS INC. UNIT PRICE	SAFETY PRODUCTS INC. EXTENDED PRICE	
31	BACK BELT, X-Small, Proflex# 1600XS	1	EA	\$23.85	\$23.85	\$15.10	\$15.10	
32	BACK BELT, Small, Waist 25-30", Proflex# 1600S	1	EA	\$23.85	\$23.85	\$15.10	\$15.10	
33	BACK BELT, Med, Waist 30-34", Proflex# 1600M	1	EA	\$23.85	\$23.85	\$15.10	\$15.10	
34	BACK BELT, Large, Waist 34-38", Proflex# 1600L	_1_	EA	\$23.85	\$23,85	\$15.10	\$15.10	
35	BACK BELT, X-Large, Waist 38-42", Proflex# 1600XL	1	EA	\$23.85	\$23.85	\$15.10	\$15.10	
36	BACK BELT, XX-Large, Waist 42-46", Proflex# 16002X	1	EA	\$23.85	\$23.85	\$15.10	\$15.10	
37	BACK BELT, XXX-Large, Waist 46-50", Proflex# 16003X	11	EA	\$23.85	\$23.85	\$15.10	\$15.10	
38	EAR PLUGS, w/30" Cord (100 per box) Howard Leight # LPF-30 100X	40	вх	\$17.65	\$706.00	\$19.35	\$774.00	
39	RESPIRATOR, Particulate Mask, 42CFR84 (20 per box) 3M# 8210,N95	10	вх	\$95.63	\$956.30	\$14.35	\$143.50	
40	RESPIRATOR, Premium welding, Moldex# N99 NIOSH 42CFR84	1	вх	\$200.64	\$200.64	\$33.73	\$33.73	
41	FACE SHIELD, Clear .060 x 8" x 15.5", Crews/MCR	10	EA	\$3.02	\$30.20	\$1.50	\$15.00	
42	HEADGEAR, For face shield, adjustable ratchet with floating suspension. Crews/MCR# 103	6	EA	\$4.96	\$29.76	\$5.15	\$30.90	
43	GOGGLES, Safety, Flying Debris, Perforated. MCR# 2225R	10	PR	\$2.04	\$20.40	\$1.00	\$10.00	
44	GOGGLES, Safety, Anti-splash, No Vents. MCR# 2237R	3	PR	\$2.22	\$6.66	\$2.35	\$7.05	
45	GLASSES, Safety, Checkmate2, In/Out Lens Smoke Temple. CREW# 11260442	12	PR	\$1.85	\$22.20	\$1.90	\$22.80	
46	GLASSES, Safety, Smoke Lens, Magnum Series. Smith/Wesson# 152PCS1	100	PR	\$5.96	\$596.00	\$6.05	\$605.00	
47	GLASSES, Safety, Smoke Lens, Code 4. Smith/Wesson# 265S1, E13011690	24	PR	\$6.28	\$150.72	\$6.40	\$153.60	
48	GLASSES, Safety, Clear Lens, Magnum Series. Smith/Wesson# 152PCC1	24	PR	\$7.59	\$182.16	\$5.75	\$138.00	
49	GLASSES, Safety, Black frame, UD Espresso Lens. UVEX BANDIT SERIES	10	PR	\$4.98	\$49.80	\$5.55	\$55.50	
50	GLASSES, Safety, Clear Lens, Over the Glasses. UVEX Astro 3001 OTG	10	EA	\$6.97	\$69.70	\$7.35	\$73.50	
51	GLASSES, Safety, Nemisis, Camo Frame Bronze Lens , Nemisis SPI #E119644	14	вх	\$4.75	\$66.50	\$5.45	\$76.30	
52	VEST, Safety, Orange Mesh, FDOT Approved, Must meet ANSI Class II, Level II min. requirements. Iron Horse Cheron ANSI-ISEA 107-1999, Med through X-Large	2	EA	\$20.44	\$40.88	\$13.20	\$26.40	

ITEM	DESCRIPTION (Current supplier info provided for reference)	ESTIMATED ANNUAL QUANTITY		RITZ SAFETY UNIT PRICE	RITZ SAFETY EXTENDED PRICE	SAFETY PRODUCTS INC. UNIT PRICE	SAFETY PRODUCTS INC. EXTENDED PRICE
53	VEST, Safety, Orange Mesh, FDOT Approved, Must meet ANSI Class II, Level II min. requirements. Iron Horse Cheron ANSI-ISEA 107-1999 Size2 XL TO 5XL	10	EA	\$25.40	\$254.00	\$13.20	\$132.00
54	VEST, Safety, Class2, Orange, Large/X-Large, TCSPISSGCOLXL	200	EA	\$3.13	\$626.00	\$4.00	\$800.00
55	VEST, Safety, Class 2, Orange, 2X-Large/3X-Large, TCSPISSGC02X3X	20	EA	\$3.13	\$62.60	\$4.00	\$80.00
56	VEST, Safety, Class 2, Orange, 4X-Large/5X-Large, TCSPISSGC04X5X	10	EA	\$3.13	\$31.30		
1	VEST, Safety, Class 2, Lime, Large/X-Large, TCSPISSGCYLXL	200	EA	\$3.13	\$31.30 \$626.00		\$4.00

ITEM	DESCRIPTION (Current supplier info provided for reference)		IATED UAL NTITY	RITZ SAFETY UNIT PRICE	RITZ SAFETY EXTENDED PRICE	SAFETY PRODUCTS INC. UNIT PRICE	SAFETY PRODUCTS INC. EXTENDED PRICE	
58	VEST, Safety, Class 2, Lime, 2X-Large/3X-Large, TCSPISSGCY2X3X	20	EA	\$3.13	\$62.60	\$4.00	\$80.00	
59	VEST, Safety, Class 2, Lime, 4X-Large/5X-Large, TCSPISSGCY4X5X	10	EA	\$3.13	\$31.30	\$4.00	\$40.00	
60	VEST, Safety, Class 3, Lime/Yellow, Mesh Size Med., LUXHSCOOL3YM	7	EA	\$5.82	\$40.74	\$8.80	\$61.60	
61	VEST, Safety, Class 3, Lime, Mesh w'slv & w/2" Silver Reflective Stripe, Large/X-Large, TCSPIHSCOOL3YL, TCSPIHSCOOL3YXL VEST, Safety, Class 3, Lime, Wesh w slv & w/2" Silver Reflective Stripe, 2XL thru 3XL, TCSPIHSCOOL3Y2XL,	60	EA	\$5.82	\$349.20			
62	TCSPIHSCOOL3Y3XL	45	EA	\$5.82	\$261.90	\$6,60	\$390.00	
63	5PT BREAKAWAY VEST, Class II, Lime, TCSV4GM,LG, XL, 2XL	50	ea	\$3.78	\$189.00	\$5.35	\$267.50	
64	HARDHAT, Full brim, Ratchet suspension Viz Yellow/Lime, Order Case Quantity of 10, Bullard #H1S71	6	EA	\$14.87	\$89.22	\$12.40	\$74.40	
65	SUN VISOR for Bullard Hardhat , MSA #697410	10	EA	\$5.88	\$58.80	\$12.70	\$127.00	
66	SUN VISOR for Builard Hardhat, Paulson A-S4-M	3	EA	\$11.07	\$33.21	\$12.70	\$38.10	
67	HARDHAT RACK over the seat suspension hook, H35002	10	EA	\$7.12	\$71.20	\$11.40	\$114.00	
68	HARDHAT, Adjustable band, Orange, Ram 2001, Charger #3013414 ALLSAFE	15	EA	\$10.89	\$163.35	\$3.80	\$57.00	
69	SUN VISOR, Fits Over MSA V-Gard Hard Hat, MSA #E3AS5M	10	EA	\$13.14	\$131.40	\$12.70	\$127.00	
70	HARDHAT, Woodsman forestry system hat with ear muffs and face screen. TASCO# 6000NRR22	15	EA	\$35.67	\$535.05	\$29.95	\$449.25	
71	HARDHAT, Orange with Ratchet Suspension #H1A59R03,	40	EA	\$3.59	\$143.60	\$4.35	\$174.00	
72	FACESHIELD, Mesh replacement for above.	2	EA	\$6.84	\$13.68	\$4.20	\$8.40	
73	CHAPS, Lighweight prolar protective pads with 3 sets of straps, 28" thru 39" long. ELVEX 94 SERIES	6	EA	\$94.21	\$565.26	\$92.80	\$556.80	
74	APRON, Heavy Duty PVC/Nylon, 35x48 Yellow, #C7YV50	3	EA	\$6.33	\$18.99	\$2.60	\$7.80	
75	COVERALLS. Tyvek - Hood/Boots, Elastic Wrists, Small through XL, EC51414	1	cs	\$124.98	\$124.98	\$84.29	\$84.29	
76	COVERALLS, Tyvek - Hood/Boots, Elastic Wrists, 3XLarge, EC514143XL	1	cs	\$140.45	\$140.45	\$88.51	\$88.51	
77	COVERALLS, Tyvek, white, zip front, open wrist/ankle, (25/case), C5TY120SWH2XL	3	cs	\$101.75	\$305.25	\$68.95	\$206.85	
78	CHEST WADERS with Steel Toe, Sizes 9 -13, ON GUARD #860679 THRU #8606713	5	EA	\$98.19	\$490.95	\$99.20	\$496.00	
79	HIP BOOTS with steel toe, sizes 6-15, #B51531	5	PR	\$43.01	\$215.05	\$44.25	\$221.25	

ITEM	DESCRIPTION (Current supplier info provided for reference)	ESTIMATED ANNUAL QUANTITY		ANNUAL		RITZ SAFETY UNIT PRICE	RITZ SAFETY EXTENDED PRICE	SAFETY PRODUCTS INC. UNIT PRICE	SAFETY PRODUCTS INC. EXTENDED PRICE
	BOOTS, Economy PVC, 16" black upper, STEEL TOE size 4-14 (Our# 2A1180 thru 2A1215 & 3U1185 thru 3U1215), ON GUARD #866-06	70	PR	\$12.45	\$871.50	\$8.75	\$612.50		
81	BOOTS, Economy PVC, 16" black upper, PLAIN TOE, size 15-16, ON GUARD #866-0	2	PR	\$10.68	\$21.36	\$12.60	\$25.20		
82	BOOTS, Rubber Slicker over the Shoe, Yellow (Our# 2A1220 thru 2A1235), ON GUARD# 880-70	2	EA	\$21.36	\$42.72	\$20.32	\$40.64		

ITEM	DESCRIPTION (Current supplier info provided for reference)	ESTIMATED ANNUAL QUANTITY		RITZ SAFETY UNIT PRICE	RITZ SAFETY EXTENDED PRICE	SAFETY PRODUCTS INC. UNIT PRICE	SAFETY PRODUCTS INC. EXTENDED PRICE	
	GROUP B (TRAFFIC)							
1	FLAG, SAFETY, 24"Red Vinyl w/36" Wood Dowel , #TCSF2436RED	12	EA	\$4.06	\$48.72	\$4.20	\$50.40	
2	FLAG, SAFETY, 24" Red Vinyl w/36" Wood Dowel and Reflective Stripe, #TCGF24R36FROX	30		\$9.73	\$291.90	\$16.85	\$505.50	
3	STOP/SLOW PADDLE SIGN, ABS Plastic, 24" diameter/84" handle, Silk Screened, #TCSS26	2	EA	\$51.12	\$102.24	\$47.65	\$95.30	
4	STOP/SLOW ALUMINUM SIGN, 24" diameter/81" handle, #STSL24A81	10	EA	\$62.56	\$625.60	\$50.85	\$508.50	
5	ROLL-UP TRAFFIC WORK ZONE SIGN, orange mesh, 48" x 48" with fiberglass rib set, various messages available, must fit the springless sign stand in Item #6, Safety Products	30	EA	\$41.41	\$1,242.30	\$24.10	\$723.00	
6	SIGN STAND SPRINGLESS, with screw lock, #TCSPi1000W	30	EA	\$84.65	\$2,539.50	\$71.15	\$2,134.50	
7	BARRICADE, Type 1, DOT Approved, 36" Wood/Steel 3m Engineer Sheeting, #TC36BARR	50	EA	\$46.54	\$2,327.00	\$30.50	\$1,525.00	
8	BARRICADE. Type II, DOT Approved, 24" Wood/Steel Hi-Intensity Sheeting, #TCSP12	250	EA	\$50.53	\$12,632.50	\$25.50	\$6,375.00	
9	CONE, TRAFFIC, ORANGE, 36" One Piece Molded with Reflective Collars, DOT Approved, #TC36RFL	400	EA	\$17.15	\$6,860.00	\$15.95	\$6,380.00	
10	CONE, TRAFFIC, ORANGE 18" One Piece Molded with Reflective Collars, FDOT Approved	20	EA	\$8.10	\$162.00	\$8.00	\$160.00	
11	Intensity Sheeting with 18" galvanized soil anchor attached, #8FG548WHTSA602	50	EA	\$38.52	\$1,926.00	\$25.65	\$1,282.50	
12	Reflective Stripe with FG-300 Lite Black Base, #8FG336YELPE104/800BASE100	50	EA	\$23.59	\$1,179.50	\$18.15	\$907.50	
13	Reflective Stripe (BASED LISTED NEXT ITEM), #8FG336WHTPE106/800BASE100	50		\$23.59	\$1,179.50	\$18.15	\$907.50	
14	BASE, #FG300LITE for Delineator (see above), FG300LITE	50	EA	\$7.96	\$398.00	\$6.25	\$312.50	
15	TAPE, CAUTION, 3" X 1000', 3Mil Polyethylene Tape, Harris #SS3100CC	75	RL.	\$4.09	\$306.75	\$7.15	\$536.25	
16	TAPE, FLAG & SURVEY, Various Colors, 12/rolls per box, #M1STB THRU #M1STOP	2	вх	\$0.97	\$1.94	\$12.25	\$24.50	
17	VISQUEEN, Plastic Sheeting, 6 Mil 20' x 100', #A220X100CLR	5	RL	\$97.84	\$489.20	\$83.80	\$419.00	
18	OIL ONLY SORBENT ROLLS 30X150' roll, Sorbent Products #A5WR30X150	20	RL	\$49.54	\$990.80	\$55.65	\$1,113.00	
19	ABSORBENT ROLLS, gray 30" X 150', #A5GR30X150	1	RL	\$49.54	\$49.54	\$56.85	\$56.85	
20	SANDBAGS, WHITE, tie cord, #TCSANDBAG 14.5"x26"	50,000	EA	\$0.22	\$11,000.00	\$0.18	\$9,000.00	

	TIQ 18-KU7U967GE, SAFETT SOFFEIES								
ITEM	DESCRIPTION (Current supplier info provided for reference)	ESTIM/ ANNU QUAN	JAL	RITZ SAFETY UNIT PRICE	RITZ SAFETY EXTENDED PRICE	SAFETY PRODUCTS INC. UNIT PRICE	SAFETY PRODUCTS INC. EXTENDED PRICE		
	GROUP C (FIRST AID)								
1	KIT, FIRST AID, 16 Unit, Plastic Case. First Aid# 2394	20	EA	\$21.13	\$422.60	\$25.70	\$514.00		
2	CPR, MICROSHIELD, Orange Pouch, positive one-way valve. First Aid# 70-150	2	EA	\$6.62	\$13.24	\$6.85	\$13.70		
3	TWEEZERS, Stainless Steel 3.5" long, First Aid	2	EA	\$0.45	\$0.90	\$1.00	\$2.00		
4	BANDAID, With Teflon Pad, Non-Stick, 1" x 3" 10/Box. First Aid# G-106	20	вх	\$2.31	\$46.20	\$2.85	\$57.00		
5	TAPE, Adhesive, 1/2" x 10 Yds. 2/box. First Aid# A501-10	2	вх	\$1.85	\$3.70	\$2.30	\$4.60		
6	WIPES, Antiseptic Cleansing Wipes,First Aid# B304-5	2	вх	\$0.60	\$1.20	\$2.35	\$4.70		
7	OINTMENT, Triple Antibiotic Packs, 10/box. First Aid# A403-10	2	вх	\$1.04	\$2.08	\$1.85	\$3.70		
8	HYDROCORTISONE, Cream 1.0%, 25packs/Box. First Aid# G486	5	вх	\$2.56	\$12.80	\$3.30	\$16.50		
9	POISON IVY WASH, Itch Cream, 3.5gm 3.5gm, 6/box. First Aid# A5012-10	5	вх	\$2.41	\$12.05	\$60.25	\$301.25		
10	EYE WASH SOLUTION, 16oz. Bottle	5	EA	\$4.91	\$24.55	\$6.90	\$34.50		
11	SWAB, Sting Relief Pads. First Aid# A-301	5	вх	\$0.91	\$4.55	\$1.25	\$6.25		
12	BURN SPRAY, 3oz Spray Can. First Aid# M-531	3	CN	\$2.31	\$6.93	\$2.95	\$8.85		
13	ALCOHOL, Isopropyl, 16 oz. bottle. Swan# 0869115610, First Aid	12	EA	\$1.74	\$20.88	\$1.69	\$20.28		
14	HYDROGEN PEROXIDE, 16 oz. bottle. Swan# 0869470610, First Aid	12	EA	\$1.18	\$14.16	\$0.76	\$9.12		
15	SUN SCREEN, 2 oz. Spray Bottle, SPF 30, SunX, #71661	200	EA	\$2.74	\$548.00	\$1.85	\$370.00		
16	GATORADE, Powder, 1 gal. packs, 40 packs per case, various flavors.	135	cs	\$63.79	\$8,611.65	\$57.75	\$7,796.25		
17	COOLER RACK, For Igloo Water Coolers, fits 2,3,5 gal of all brands of coolers. Igloo	2	EA	\$45.41	\$90.82	\$47.00	\$94.00		
18	CONE CUP DISPENSER, For Igloo Water Coolers, mounts to the side of coolers. Igloo #M38242	2	EA	\$13.25	\$26.50	\$13.75	\$27.50		
19	SQWINCHER STICKS, (energy drink) M30601(50/bag)	10	EA	\$14.53	\$145.30	\$15.00	\$150.00		
20	COOLING TOWEL, Chill-Its, #SPI M96602	20	EA	\$4.48	\$89.60	\$4.95	\$99.00		
21	MAX XT II, Gas Alert Monitor, 4, 02, LEL, H2S, CO w/pump, D1XTXWHMYNA	5	EA	\$689.49	\$3,447.45	\$733.75	\$3,668.75		
	QUOTE TOTAL FOR AWARD PURPOSES				\$95,368.66	_	\$80,943.60		